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Question 1 (& Goodwill Account
% ]
Bal bia W0k 1 Capital Framk 15000 1
Ressaluation 20000 1 Emesi 7H00 1
Diesvicaus THM 1 (5
30 000 3 o
fii} Revalualson accounl
L3 5
Erquiprnesi 1300 1 Goodwl o000 1
Slock LRLEY] 1
Capdal - Frank 11 800 10F unbess abons
Emest & 600 10F o 2
0 0o 20 000 {3)
8] Capital acoounis
4 5 5 E ] 5 ]
F E o F E D
Goodwill 15000 T BO0 T 500 30F Balbdd B0 0D 120 000 F 4
Prermises. = 1
Bal od TEEO0D 118400 168500 1 Reval 11 &00 5 ‘Bxl 10F
&1 B0 125 B0 166 D00 91 800 125 900 1H-ETJ‘5___

()

Balbid 76800 118400 188500  (B)

Balancs Shaet at 1 February 2006

7 5 5 b
Fized asseots at net book value

Premises 196000 1
Maobar vehaoles 58 200
Equipment M 1
Fisuwes are Wlings 35 000
22T 300
Current sasels
Siock 1 G3000
Drabines 45 600
Bani 200 13T B
Amunts dus within 1 year
Credinrs 3 400
Mt curment asseis 105400 1
432 OO
Capital sccounts Frank iFor Td S00
Erfes 1of sl 118 400
Cienvinirs (e 188 500 383 TOD
Cumrranl oo iiE Frank {kor 35 400

Ermast 1both 13600 49000 43TTOO (6}




Page 3

Mark Scheme Syllabus

Paper

GCE A/AS LEVEL - OCT/NOV 2006 9706

L

Goodwill ks taken into account on tha refiral of & partnor, wha miest b crodibed
with his shane of Goodwill. An incoming partner must compensate the
exrsting partners for his acquired share of Goodwill bn Ehis situation Goodwill
iy B Fassad in the Books of account a4 an asssl, bal B i consiiensd
prudent to adjust indsidual cApEal accounts mn ordar o compansate each
[partner whan parinmrs retinn fom of join @ parnnarshep
Ete
2 for each point to a maximum of 1]
Total [30]
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Question 2

{a) Halance Shoet at 30 September 2006

000 SO0 $000
Flxod assets Pl
Current assets
Stock 12 4
Dobéars n
Bank 16 1 5
Current Habilities RS
Creditars b =.3
Lsan irberes] dis 11 ELS
Mel current asssts (worling capital) 24 10F
104
Long-term liability
Eank ian 201
E1
Capital 91 10F
Mot proiit 14
o
leess drawing s A0
B (6
by
(i} el profit percenage = 4 17% (10240100 20F
(%)  Caurmant ratic = 1,711 [5834) 20F
(&) Chakck ratio = 1.3% 146534 ) 20F
[} Rabe of stockiurm = 9 22 mes | TEEMA) a2
(v} Pescoenlage return on owmer's capital employed = 12 35% 1081 100 20F
(v} Percemtage retum on fotal capifel employed = 11 B9% (12001100 20F
{va) Debtors collection perind = 48 days (31240368 2
[will} Creditors pagment period = TS days {3301 6385 2
2 Tar cormec] answer, 1 if 2ulfic omitied 18]
[e] Loss &l aoel = (240 000x35%:) - 74 000 = $10 00
1 1 1 | [4)
(ai Quick methed of comparing aither two businesses of [he sams Lype
or e OF More years. within one Business
(o1
(i) Teo smpletic - eg assumes in times of inflalion hal income and
costs nsa at the sama raba
[ el
1 per paint + 1 for expansicn to maximum (4}
Total [30]
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Question 3 [ai} 1 Prof 1
- Laoss 1
3 Calen 1
4 Break-oven poir 1{4)
{iij Broakeven s Fied costalunil contribulion = 052301 undis = 52, B5T 14
OR 5] $2h80
1 1 1 1
[zl rounding either way) {4}
{ii]  Margn of safely is the detance betwoen break-even point and expecled level
al activity 2
it shows the amount by wiich achl actriy can ksl shod of expecied
activity before a loss s incurmed 2
it = o measwne of ek 3

(v

(Kl

to e {d)

J00-06 = 204 units = FE120 i)
i 1 1

Mew M costs = 115% of $2000 = §2300
M bresalk-evan = 23HN 106 53381 Unis
Mow profit = (400-100 57381) x 11 = $5I00

1 1 1 1

Candidabe may round BE bo 109 or 110 in whech cass accepl answer of
6090 or 8111,
oR
Praofit = Sales - (WE +FC)
=400 x M0 - ({400 x B} + 2300}
=1 20000 (3500 + 2300, = FH100
1 1 1 1 ]

Larry Lig - Bréak-gven char

12 000
10 OO
Income
and
Costs §
Total oFE=—
BEFP
Fixed coats
s
o . : t 4
T 2 a 00 a0

Cutput {units}

Marks - 1 for heading, 1 for BEP, 1 each for lilles on axes, 1 sach lor lines wilth litles
o maximam (&)
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{zj
{ap

{m}
{ =)

()

Fmed costs remain fomed for all leeets of actiity
Uil vanable oosts nemain oonstand

LUinit sefling prce remains constant

All costs can be separaied mio feed or vanable
Ele

1 sach to a maximum of {4)

Total [30]




